GSE Geometry Unit 1 - Transformations EOC Review
Name: Block:
Vocabulary: Translations, Dilations, Reflections, Rotations, and Isometric.

1) Translate the ths by 2) Translation: (x, y) > (x—2,y—6) | 3) Reflection over y = x ( | 1_)
Ay 0
y-4

the rule: (x,y) — W(3,2) C(2,4) T(3,5) Z(52 Y
) 4 <(y ) ((l)/-h )(3/ u / v )
s (5,2 8'(-9,-2 [ w (440)
Y (-4, 5)—>Y'(-‘),I) 4 ‘I ot (O M)
R (-1, 1) [2\(0,-3\ : T/ (29)
A4, 2> B! (-‘),-6) A Zd L‘(..3,1|
ECY ‘9‘9 = (—5;-!\
4) Reflection over y = -3 5) Rotate the figure 90° CW 6) Rotate the figure 90° CCW
v y Y '
CE ' (5,0) e L9
A\ V() - D' (")/"')
- Y

v
7) Find the coordinates of the new 8) Find the coordinates of the new 9) Draw a dilation with k = 2
vertices of the image that has been vertices of the image that has been ¥ ( ‘)
dilated by a factor of 5. dilated by a factor f 1/2. |9'!' Aﬂ Z‘Z ‘Z.)
——— ‘ [
8(-5, 2)> S'(-?S,@ w205 W' (1.5, 1) 7 ’ )
' ‘ \ A \ D( 2 ()
Y (4,55 (20,25 ce 4~ (1,2 e (y,12)
R (-1, 1) ]zl(.-s'/S') T35 T'(LS, 2.9) =L\ d )
-2,0
Aa,-2 A (—ZO,—- lO) z(5.2- ! (25, l) ¢ ( /
c'-40)
10) Determine the scale factor, k = __ | 11) Given the pohis 12) Given the points
M (-3, 1 & K(0,-4) P(6,-3) R(1,2)
4 g Translate: (x y +2) Reflect: over the x-axis
Reflect: y = x Rotate: 270 CCW
B K — s K’ — Y { 0)
Be o (=6,3) (o) - C
L, Av/ M” — ("I_ﬁ)) P — (_c,')) P’ — (?/ Q)
= = S - (2‘/ o
1 S”_)((les R’—)(lI—Z) R’ » (—Z, l‘




GSE Geometry
Name:

Unit 2 — Triangles and Quadrilaterals

EOC Review
Block:

Vocabulary: Supplementary, complementary, vertical, same side interior, same side exterior,
alternate interior, alternate exterior, corresponding, triangle, quadrilateral, and parallelogram.

_l\Z/; ol
b3 4||2'
U732
68/8"2;
| go-Uz

m | £1and £5 (O((‘S W"é “’

1) Name the angles listed and the
special property.

saandss S.S. 1AM ST
2and 28 S.S. @&decor

saand 25 Olternade Nt 3=

2) Given m||n and m 8, find the
measures of all the numbered angles

in the figure.

m41-\\'z. m42=68‘
Emé4-’lz.
m«5 = llz m«£6 = 68
KméB 112

ms£7 =

3) Solve for x.

=30

4) Solve for x.

N | X 4= 90
ﬁﬂ% 0
-1 -2

)

5) Solve for x.

6) solve for x.

7) Solve for x.

5"24.5'2 FIHX+E=
FI4X =130

=\ {9

IO

ﬁ(:"lo

(VAN

9. Solve for x.

10) Find x and y.
8x + 12

nNZ ¥
W 68
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X
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GSE Geometry
Name:

Unit 2 — Similarity, Congruence, and Proofs

EOC Review
Block:

Vocabulary: SSS, SAS, ASA, AAS, HL, CPCTC, Reflexive Property, Definition of a Midpoint, Midsegment.

Determine if the following triangles are similar. (SSS, AA, SAS, None)

8

1 0ABC ~/\PEZ= by_\AS

2)AGHI ~ALUKT by SS¢
AF =2 J

D >
is
2%
43 Gg) 1212 ) L (Y
PR 2 s
. G(6H K 18

L

3).AMNO ~ byAA
M

P
o

N -Y40
S (Ao

e
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6) If a 42.9 ft tall flagpole casts a

Ll- 253.1 ft long shadow, then how long

is the shadow that a 6.2 ft. tall woman
cas
} C} \7_5'5\
2.9
[X=36.C

7) Solve for x.

9) Solve for x.

3x -1

Y

S
A,AIL—__)

X5 Y |

Determine if the foIIowmg triangles are congruent. (SSS, SAS, ASA AAS, HL, None)

10) 11)

honeé

LN

Prove: AABC = ACDA

13) Given: AB=DC 14) Given: RT =TV, ST=TU Prove: £1SR = ZTUV

B C
A []
Statements Reasons Statements Reasons

- AB=DC I G{VQV'I 1. RT=TV 1. GVe-'\
2 AC=AC 2 E(Fle)(\ ve 2T ="T(r |2 Given
 ZABC&LCDA |3 Given 3 RS= 10 |3 \J2r ¥ ¢\
4. 2ABC=,CDA | 4. V1 43:“\_(?: :_ZSM 4| eaRs=aviu e SAC
5. 4A8C=aCDA |5 ][ 5. ASR=ATW |5~ OCT(C




GSE Geometry Unit 3 — Right Triangles EOC Review
Name: Block:
Vocabulary: Sine, cosine, tangent, complement. QA P\ = ¢ o -B
_ € A+B=I9
n 1) Find sin A= :8— i 815 5) sin75° = cos
< a Y
A 2) Find tan B= 7
1. 6) cos40° = sin S0
C 7. B 3)Find cos B= %
T 2
NE+b "= C - 7) cos54° = cos 4
4) Find tan A= ——
—— '_'_
8) Find f. 9) Find m. 10) Find x.

y
Gn29)=(EY"
)

-

11) Find angle P.

13

%)

f:‘ Ayl
.—LJ-:- H.

oy 11
8: Sin P

i S=32 |

13) Solve for theta.

B

A

14) From 25 feet away from the base of a building, the
angle of elevation from the ground to the top of a building
is measured to be 38°. How tall is the building?

& xzc ) ()rﬁ/

15) A kite is 35 feet in the air and the string forms an
angle of 62° with the ground. How long is the string?

lhYe xEn 62 ~<;

X
X. S‘.f\bZ = 3S|

ez/

35 ofC

/X:( 93)

5




GSE Geometry
Name:

Unit 4 — Circles, Angles, and Area

EOC Review
Block:

Vocabulary: Inscribed angle, central angle, arc measure, sector, arc length.

1) Find m<GHI

2) Find €D

3) Find mC

8) Find the area of a circle with a
diameter of 22 inches.

9) The circumference of a circle is
25.12 ft. What is the radius?

» =1\ (=200
> A=TT ct 2512~ -
= =3530 =TT(n) * <z
:}20 =S VANT) J =%
T ~ 3 %ol

AlL=2T1c 88
I}

2o
[T

10) Find the arc length of 4B

e@

AL=2T1HE)

12) If the radius of the circle is 6
centimeters, what is the area of the
shaded segment?




GSE Geometry
Name:

Unit 4 — Segment Lengths and Volume

EOC Review
Block:

Vocabulary: Chord, fangent, volume, Cavdlieri’s Principle, Pythagorean Theorem, cross section.

1) Find the value of x.

2) Find the value of x.

/\
6
X

5\\/

3) Find the value of x.

-
-

X()=9(9+41)
& 0T
W=12)

®

4) Find the value of x.

5)Is AB a tangent? Why or why

6) Find the value of x.

K t?
3 T NeY dengent s 80
J 8 )
16 " 2
X+ 12
M ‘ r— At+b2=¢C?

X2 +%6? =€2*
Ne+ot=Ct %24 LYype= 6124
g2 1 = \5* o LR N L
’l N Ty

320 /3 6 r‘zy
7) Based on Cavalieri’s Principle, 8) Find the volume of the hemisphere. | 9) |f the volume of a cone is 23

wh_at should be the volume of each 15 cm in3, what is the volume of a

cylinder? cylinder with the same base
C1din ) ¢ Cidin area and height? Explain how

‘ \ ",\ | you got to your answer?
24in | | 24in
| \ — 3 =1
‘_,J \‘_,) ’ V= %"-Tl‘r %’)D
Cylinder A Cylinder B Y

U=Tirz h ) = dr(is) o

=71 () (M — 9m,
= 119 (T 3695 ="130¢ TT 422507 4

10) Find the volume of a square
based pyramid.

U=%Bh
V= (6
V=373

12) The state of Georgia has a
surface area of 59,425 square miles
with an approximate population of
9,983,400 people. How many people
| per square mile live in Georgia”?

D:j\%

D= 9,9 37,400

Pﬁ‘:-\o\"‘ D= |68 5?,""25
L LANL op\2
- J (e ‘P‘( —
=\ Sq;im




GSE Geometry
Name:

Unit 5 — Geometric and

Algebraic Connections EOC Review

Block:

Vocabulary: Midpoint, distance, partition, endpoint, circle

1) Write the equation of the circle in

standard form (5, 1)and (6, 7).

f X h)"{.-z Z_ky‘: r~
xer)®+ (ye2) 29 |

2) Find the midpoint of

3) Find the coordinates of the other
endpoint of a segment with an

4 endpoint of (-2, 2) and a
> | ( S (3 midgoint (8, 3).
[FPE ARBNEA BN (S5,4) (-2,2)
(o/—] —I—l() 4 X —-S)[,> j\l
se Loy +o é]g:w ) )2

e —

4) Brandy and Mandy are I tirepool playing a game of
Marco Polo. Brandy swims 10 ft south and 7 ft east of
base. Mandy swims 6 ft north and 5 ft west from where
they started together in the middle of the pool. How far

5) Determine wheth all -5, 8) Jles on the circle
whose ceiter is Poirt_ C (1, 2) ¢hd which contains the
Pcint P (7, -4).

are Brandy and Mandg :E(z—)(bz-f()/z" yl)

I8

d=

g {5y (640
\ Ll"é"r‘”\ @_

2

2 :E'Z
2

(\145) 2 +@-%

L=

6) Find the area and perimeter of the figure.

7) Given that a parallelogram’s sides are parallel, prove

y-__'})(-s'/

of the following is a parallelogram.
5 HER d =J(—l-2\"+(-'-‘-l)‘ G amm
tNTH = 348S i Sass
r I =
H F i ] L H s
TR P-35+ES+b ma g_
o L1 =
K =23 !
ar %L) h le=23) L l
A = ) (¢) T+ s ¢ pPeclldogrom
B -7Y cconsa  the 6)0(9(308'“ Gides’ Slopas
_J 0cr  Hae Same.
8) Write an equation of the line that passes through (-3, 4) | 9) Write an equation of the line that passes through (5, -3)
and is parallel to y =C_§" -1 X, YA | and is perpendicular to y *H Xl yr
=3 Y-Yr =X X) V=y i=m (X=X) (= =
y-4=3 ><+) y+3= —Z—(y S)
)A*Z/ = -’5>< y+g %x- -2
Y=3 >“"S

10) Find a point P on the segmentwith endpoints A(-1, -3)

and B(7, 1) that partitions it in a 3:1 ratio.

11) Find a point T on the segment with endpoints C(-4, -6)
and D(2, 3) that partitions it in a 2:1 ratio.

(=1,-3) = CY4 ,-o"
0 o D 4 < ’>+‘3
T Z,3)



GSE Geometry
Name:

Unit 6 — Probability

EOC Review
Block:

Vocabulary: Independent events, dependent events, conditional probability, Addition Rule,
Multiplication Rule for Independent Events, outcome, overlapping events, union, intersection

Employment Survey Results

Age (in Years)

Employment Status  Less than 18 18 or greater Total
Has Job 20 587 607
Does Not Have Job 245 92 337
Total 265 679 944

1) Find the probability that a randomly selected person will have a job, given
they are older than 18. P(job | older than 18).

X /o9

2) What is the probability that person has a job?

“ Vouy

3) Find the P(Does not have a job and is less than 18)

L

4) Find the probability that a randomly selected person has no job, given they

are older than 187
2 _—~ - 4= 19;
e - V=1

5) Martin has 8 cards. What is the
probability (as a percentage) of
getting an even number or a 10?

Halis
2@

7089 o)
L= =4

Mutually exclusive or overlapping

6) You spin a spinner. What is the
probability of spinning a 4 or landing
on an odd number?

Mutually exclusive or over!

,1 7)FindP@)= S /7

8) Find P(B)= |

&,
@)

10) Find P(A U B)= L'I’LT
4

11)Find PANB)= =

198

12) Find P(A N B)= Ls_(F

13) You are guessing at two 14. There is 1 red goldish and 4

questions on a multiple-choice test.
Each question has 4 answer choices.
What is the probability you guess both
questions correct?

Independent pr dependent

yellow goldfish. You randomly choose
two goldfish without replacement.
What is the probability that the first
fish is red and the is gold?

15) Are the events independent?
P(A) = 2 PGB =
) =10’ —(-)';_'20'

Independent oy dependent

A
2.9(

©

16) Are the events independent?
P(A) = 0.08; P(B) = 0.4;
P(ANB) = 0)(

Independent of dependent

= .(

)32

Independent or dependent
N—



